
Moto Guzzi V7 (’08-’14)
FRAME SLIDERS  
part# MG-V7FS

satoracing.com

[L]

[R]

SLIDER BASE [R]
 [SDRB-MGV7FS-R]

SOCKET HEAD M10-60mm
 [SBT-M1060]

SPLIT WASHER M10
 [SWS-10]

WASHER M10
 [WS-10]

SLIDER PUCK
 [SDR-L10-100]

COLLAR 30-10V
 [CLR-30V-10]

SOCKET HEAD M10-40mm (P-1.5)
 [SBT-M1040-15]

SOCKET HEAD M10-45mm (P-1.5)
 [SBT-M1045-15]

SOCKET HEAD M8-15mm
 [SBT-M815]

SLIDER BASE [L]
 [SDRB-MGV7FS-L]

SLIDER SPACER
 [SPACER-MGV7FS]

COLLAR 30-10V
 [CLR-30V-10]

SLIDER PUCK
 [SDR-L10-100]

SOCKET HEAD M10-40mm (P-1.5)
 [SBT-M1040-15]

SOCKET HEAD M8-15mm
 [SBT-M815]

SOCKET HEAD M10-45mm (P-1.5)
 [SBT-M1045-15]

SPLIT WASHER M10
 [SWS-10]

SOCKET HEAD M10-60mm
 [SBT-M1060]WASHER M10

 [WS-10]

SLIDER SPACER
 [SPACER-MGV7FS]


